< O X > (um) for PV

Ratio

5

10 15 20
Vertex z (cm)

20 0 20 40 60
Vertex z (cm)

20 0 20 40 60
Vertex z (cm)

—=— DQM_correctCheck3_mu_pt1to1000_eta2p5to4p0
—— DQM_original_mu_pt1to1000_eta2p5to4p0

0.2

<oy > (um) for PV

-0.2

-0.6

-0.8F

|

0.8F
0.6 ; : : : ! !
oab

Ratio

1od)

RETi)

10 15 20
Vertex z (cm)

<9z > (um) for PV

Ratio

5

10 15 20
Vertex z (cm)

= 0.1

g
20.08
N

>
20.06
V0.04
0.02
0

-0.02F

-0.04

-0.06f
-0.08F

................................................

Ratio

-0.1—

=20 0 20 40 60
Vertex z (cm)

1000

500

10 15 20
Vertex z (cm)

0.1

(um)

0.

o
[eF]

=20 0 20 40 60
Vertex z (cm)

20 0 20 40 60
Vertex z (cm)



	Contents
	Page 1


